Addal247)
GGEEL%'ie Play

p | TEACHER ELIGIBILITY TEST, JUNE-2025
TFT-IRT (Question Booklet)

Series

e 4. (3l H) Roll No. (in Figures) : -
Ta A (3] ") Roll No. (in Words) ;.

~

fgspay fF : 150

g : 2% HUC
Time : 2% Hours Maximum Marks : 150
;TE‘T“T WIS & A el DLEASE READ THIS PAGE CAREFULLY.

R MIER ?ST: T 5 tfmun X 2 e 1 gy | Note: Candidate should remove the sticker seal and open this
gﬁgﬁ:am Fl @’rﬁ dr dfg # d N gikEd = o fE Booklet only after announcement by centre superintendent and
a1 32 7% € AR T4t T‘_"f 3 F3 fau F18 [J-2501] Series-D gk\mnélg thens‘aﬁe(rj :éhedck [jnSSS?flge tha!DEhis Book{lie! conlains all

3| qf of R = e 32 pages and Coce [J- eries-D is printed at the bottom
e 3 *Iaﬁ g, @ IR W e g 28 92 91 | of each and every page. If you find any defect, variation, torn or
qﬁf_‘*F[Fi h??' : . unprinted page, please have It replaced at once before you start
LS e A G e S T ST H fyff | answering.

R W AT U@ A = famm @ e femm zg# | IMPORTANT INSTRUCTIONS :

IW-TAP # A @ W9 w St AR 7 & Hw wWar | 1 The Answer-sheet of a candidate who does not write his
wfrorg wifyd feran smam) Roll No., or writes an incorrect Roll No. on the title page of
2 - 7 150 ¥ ¥ sk e @ %% T the Booklet and in the space provided on the Answer-sheet
3 g T E = it s 78 Al will neither be evaluated nor his result be declared.
4 T %'I IEI‘ l H’RI I R 2. The paper contains 150 questions and each question
3.‘,‘2 i SRE ] , carries one mark
o e 8 I fovay Wi fEm e ¥ e €2 :
A) s tﬁ:ﬂ(B} Tﬂﬁ 2 3. Attempt all questions as there will be no Negative Marking.
©) ) : 4, 'éhe questl':ans wBeKof ﬁb]ective type. Here is an example.
TR uestion No. : 8 Kashi Vishwanath Mandir is situated in |
meaﬁm%wﬁ%tmmm—mﬁ which city?
. 5y = b y
%ﬂﬁg? ‘13?'{ fﬂ q% ﬁé %!; (C)rﬁﬁl'c:; el g9 @l (A) Ayodhya (8) Mathura
) v Al : (C) Varanasi (D)  Haridwar
Q.No. ANSWERS Tr:le r:;orr;ect answer of this question is Varanasl. You
will therefore darken the Column (C) circle against the
8 ® ® ® (@J Question No. 8 with ball point pen in the answer sheet as
5. mmmmwmm%mﬁm@ﬁﬁg S“Mb‘i';";’ AREERS
mﬁ,muﬁmmwﬁnm?ﬂm —_— :
fmmwaa%,amﬁ,a’mmfmﬁwmiﬁw s | ® ®@ @ ©

FI AT HIAT ST ' 5. Ea i

. Each question has only one correct answer. If you give

6. 3t i et W 4 fig=rr W vt more than one answer, it will be considered wrong and itgwiil
& T -k Eot be evaluated. Cha:igh:,g, Cutting, Overwriting and

E“iﬁ' !U.l , rasing of an answer Il be treated as wrong answer.

7. q—t‘,:] Fel ot T’ R §'{3[ L Frd W;T‘Ia:“g; 6. Assume English, version correct in case of any

F em::;} mugﬁ & fd ot s HE d discrepancy between English and Hindi version.

i 78w 2 . 7. The space for rough work wh i
g, fdt off aw® @ YR # @@ T %) T w1 d ulilizedp?)y the cand?date. You arzr?'lgraﬁgelgego ums?aﬁi

TeETd PEH H FR A e wifed feram portion of the Answer-sheet for rough work.

TF B 8. Do not mutilate this Booklet in any manner. Seri

« e . Ser

o @ WF F @ T T O 94 T S-S B G damage/mutitation may entail disqualification. et
TE TR W & & ferm Sl gt dd T 9. Do not leave your seat until the Answer-sheets have b

. een

i gl T8 SR @ A T W 7 I fes e E;:If:tﬁﬁ a;gfn ﬂ:&;e of the examination. Candidate will not

< T @ S 3 A e e wan A only after he has i tll stipulated time is over and

Hilhgli iyl o er the Answer-sheet to the staff

- -S i -
J-2501-Series-D P.T.O.

(3 scanned with OKEN Scanner



ADDA247
Rectangle

ADDA247
Rectangle

https://applink.adda247.com/d/XhqWf9lSap

ALL EXAMS, |
ONE SUBSCRIPTION ',

70,000+ Personalised Unlimited
Mock Tests Report Card Re-Attempt
600+ Previous Year 500%
Exam Covered Papers Refund

ATTEMPT FREE MOCK NOW


https://applink.adda247.com/d/5zsmwiLHz7

Addal247)

TEpia SAfaaa qhego
(A) . aifae ey
(B)  HIhIhd A SIET
(C)- oaTafer wigmr -
(Dy ST gt
TrsareA qdieqor =51 3R
(A) IE F = TeomeA Tlerm
(B) TUH. SRl 1 qHES I
Tq{&To
S T w1 gnfae A
(D) AR 99k gfg A9
Aifge s & WA w1 4 9fE
e JER

(A) 559 70

(B) 35955

(C) 20 ¥ 35

(D) 20 9 ®H
qiafie wifer &1 S FEYU ......
3 =)

nf eeds

(B) emef S=A

() W T TR

(D) = dt fireTwE

forverqurETdl AR % W
(A) e I

(B) e T

(C) TR %A

(D) RA B

J-2501-Series-D

PSYCHOLO
X,

GET IT ON
Google Play

GY

Culture biased test

(A)  Verbal test

(B)  Standardized psychological test

(C) Non verbal test

(D)  All of the above

Example of performance test

(A) Koh's block design test

(B) S.Jalota's mental ability test

(C) Raven's progressive matrices

(D) Wechsler adult intelligence
scale

I Q range in moderate level of

intellectual deﬂciency.

(A) b55to70
(B) 35to55
(C) 20to35

(D) Below 20
The concept of Emotional intelligence

was first introduced by "

(A) Alfred Binet

" (B) Arthur Jensen

(C) Salovey and Mayer
(D) J.P. Guilford
Analytical
developed by ____ .
(A) Carl Jung

(B) Erik Erikson
(C)  Erich Fromm
(D) Karen Horney

psychology was

(3 scanned with OKEN Scanner



https://applink.adda247.com/d/XhqWf9lSap

(A) 1954
B) 1879
) 1974
Oy 1989

(A) e

(B) A

(Cy fergar@Hitadr

(D) HHA®
W#éﬂmﬁmmﬁﬂh
Eﬁmﬁﬁ:‘a‘ﬁﬂﬁ%l

() wifae e A

(B) Aqfgrdfes e 9
(04 et ST

(D) e T

J-2501.—Series-D

GET IT ON
Google Play

'Principles  of Psychology' was

published by .
(A) wilhelm Wudnt

(B) William James
(C) John Watson
(D) John Dewey

National institute of mental health

and neurosciences is established at

Bangalore in
(A) 1954
(B) 1879
(C) 1974
(D) 1989

The consistency of scores obtained

by an individual on the same test

on two different occasions.
(A)  Objectivity

(B) Validity

(C)  Reliability

(D) Norms

The takes place automatically

without conscious decision of the

brain
(A) Somatic Nervous system
(B) Parasympathetic Nervous
system
(C) Nerve impulse
(@) Reflex Action.
\P.T.O.
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According to Piaget, in which
stage of childhood, the child gains
the ability to mentally represent
an object that is not physically
Present.

(A)  Sensorimotor

(B)  Preoperational

(C)  Concrete operational

(D)  Formal operational
Vygotsky's theory of cognitive
development is also known as R
theory.

(A)  Socio cultural

(B)  Biological

(C)  Socio emotional

(D) None of these

include physical traits

such as height, weight, eye, skin
colour etc.

(A)  Development

(B)  Growth -
(C)  Genotype

(D)  Phenotype

Who developed the multimode
theory of attention?

(A)  Broadbent

(B) Triesman

(C)  Johnston and Heing
(D)  Kohlberg
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The learning situation in classical

conditioning is an association
between two stimulus (bell and

food). In this Bell is N

(A) Conditioned Stimulus

(B) Conditioned Response

(C) Unconditioned Stimulus

(D) Unconditioned Response
Who gave the concept of Latent
learning?

(A) Bandura

(B) Kohler
(C) Skinner
(D) Tolman

Fitts presented phases of skill

acquisition.
A 1
(B) 2
C) 3
(D) 4

Large number of Learning disabled
children have ;

(A) Phobia

(B)  Illusion

(C) Dyslexia

(D) Autism

P T1.0.
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18, srusifers wifa =1 srafy- 18,  Duration of Short Term Memory.
(V U Gave § %4 (A) Less than one second
(B) 30 Hhug § &YW (B) Less than 30 second
(C) 60 U%vg | Y (C)  Less than 60 second
(D) SftaAydq (D)  Upto a life time
19. ®UR st <feg @ wefug it 19. Memories relating to our personal
....... i TR 3 life experiences constitute the
(A) Eﬂ'WW memory,
B T (A)  Declarative
(©) m (B) Episodic
(D)  ameff (C)  Procedural
20. .. T = e g a B Bemantly
. f - 20. __ saw memory as a constructive
and not a reproductive process.
‘S (A) Ebbinl;haus o
(B) e .
. (B)  Shallice
(CV % T e (C)  Craik and Lockhart
([?) b 4 (D)  Bartlett
2L S AR @ RARR 21.  People who go to sleep after memo
T %’ ST W o i -rising should ___ as compared to
RALp— ! those who remain awake.
(M// At foreror g @ (A)  Forget more
® = fomor g @ (B)  Forget less
© T o 2 (C)  Total forget
(D) FTR = (D)  None of these
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Who developed PQRST method to

enhance memory?

(A) Thomas and Robinson
()  Craik and Lockhart
(C) Atkinson and Shiffrin
(D) F rederick Bartlett.

'All the glass articles are breakable,
this is a glass jug so it can break'.

This is an example of

(A) Deductive reasoning
(B) Inductive reasoning
(C)  Problem Solving

(D) None of these

Strategies not helpful in enhancing

creative thinking.

(A)  Use of Osborn's Brainstorm ing
technique.

(B) Become more aware and
sensitive to feelings, sights,
sounds ete around you

(C) Use of convergent thinking

(D) Never accept the first idea

for solution.

According to behaviourists, language

development follow principles.

(A) Operant condioning
(B) Heredital

(C) Memory

(D) Forgetting

P10,
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The term 'Motivation' 18 derived

from Latin word___.

(A)  Movere
(B)  Mover
(C) Motive

(D)  None of these
In the bottom of Maslow's hierarchy

- of needs.

(A)  Self actualisation needs

(B)  Physiological needs -

(C)  Belongingness needs:

(D)  Safety needs '

The frustration — aggression
hypothesis was proposed by-

(A)  Abraham H. Maslow

(B)  James and Lange

(C)  David McClelland

(D) Dollard and Miller .
Strategies useful in managing
examination anxiety.

(A)  Prepare well

(B)  Relaxation

(C)  Exercise

@) ; Motthenbore

Mental age of 10 year old boy is 192
years. Find his 1 Q,

(4) 84
(B) 100

(€ 110 ‘ l\o/ﬂ"?
D) 120 S
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Direction Q. No. 31 to Q. No. 35: | Direction Q No. 36 to Q No. 40 : choose
Fill in the blanks with appropriate word | an option, which can be substituted for a

for the gi
or e"gwen sentences. | given word/sentence/phrase out of given
31. "They oo all dead", he muttered :
) options.
......... himself.

36. Wild people in primitive stage
(A) Monsters

(gf are ......... of

(C) were....... for (B) Savages

(D) are ... to {()‘rf Omnipresent
32. The hunter ......... SRS ;1. ; O (D) Omnipotent
surprise. 37. Spoken in a low tone
(A) had...... at ( A/ Muttered
(B) was........ for .
#£) was ... by ) Ctmnp
0y T — at (C)  Nuisance
33. One morning when the geese had (D)  Applaud
............ out .......... search for food. 38. Land with no vegetation
(A) went ........ on (A) Island
(B) gone ........ in (B) Barren
(C)  left........ at (C) Pastures
(ﬁ) left ......... into @ Grassland

34, A creative activity ...... be followed

39. Injury by blow to bod
a presentation before the class. jury DypIeW B LORY

(A) Ought ..ccovvinerene then (&) Bruse
B must oo of (B)  Remedy
(C) could .....ccoeen. s into (?’ Panacea
(D) should .....cccorne by (D) Injelititis
35. Then he ............ some sweet syrup | 40. Extremely interested
A ...... it and serves it. (A). Interactive
.............. t
) tastes S (B) Intraadrenal
(B)  PpOULS .ccossissessass and -
(C) £aFtRS .ssiusssans because (Gf  Felicitated
(]?) POUEE ssvessansa ... OVET : (D) Fascinated
J-2501-Series-D 9 P.T.O.
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Direction Q No. 41 to Q No. 45 : Given

statement-Rina won the race.
the sentence

according to the given tense and form.

Change above given

41.  'Simple Past Tense, in the
'Interrogative form'
(AY Has Rina won the race?
(B)  Does Rina win the race?
(C)  Did Rina won the race?
(D)  Did Rina win the race?
42.  Past Perfect continuous Tense
~(A)  Rina has won the race.

(?’5 t Rina had won the race.
(C) Rina had been winning the

race.
(D)  Rina had being won the race.
3. Simple Present Tense, in the
Interrogative form.
(A) Has Rina Won the race?
(B)  Will Rina win the race?
(7 Does Rina wins the race?
(D)  Does Rina win the race?
4. Future Perfect Tense
(A)  Rina will win the race.
(B)  Rina will have won the race.
(C)  Rina will have been winning
the race.
gai/ Rina will be winning the
' race.
501_series-D
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45. Past continuous Tense,

Interrogative form

(A)  ‘Has Rina won the race?

(B) Was Rina winning the race?
(C) Has Rina been winning the
race? 7
(DY’ Was Rina being winning the

race?
Direction Q No. 46 to Q. No. 50 A word
is underlined in next five statements.
Identify its parts of speech. .
46.  "Then listen Carefully" replied the

7]

wise bird.

(f() Verb

(B)  Adjective

(C)  Conjunction

(D)  Adverb
47.  As they flew into the tree.

(A)  Preposition

(BYY Conjunction

(C) Adjective

(D) Interjection | .
48. Happiness was hiding in the last

tear.

(A)  Abstract Noun

(B) Common Noun

(C) Verb

@f  Adjective
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49. I was stuck with utmost fear and
astonishment.
(A) Noun
(B) Verb
(C) Adjective
(D)/ Adverb

50.  The creature picked me up m
his thumb and forefinger.

(5)/ Conjunction
(B) Interjection
(C) Adverb
(D) Preposition
Direction Q. No. 51 to Q. No. 55 : Select
the correctly spelt word.
51. (A) Comette
(B) Committee
(C) Committe
(9& Commety
52. (A) Spontanity
(B) Spontinity
(C) , Spontenity
(I)/ Spontaneity
53. (}9{ Orphanage ‘
(B) Orfanage
(C) Orphnage
(D) Orphenage
54. (A) Ingridiant
(B) Ingradiant
() Ingredient
(D) Ingridient
J-2501-Series-D

"

GET ITON
Google Play

55. (A) Schdeul
(B) Shedule
(C) Shadule
(DY Schedule

Direction Q. No. 56 to Q. No. 60:
Choose the word apposite in meaning to
the words printed in CAPITAL
56. ORDINARY

(A) Eminent

(B) Auspicious

(C) Prosperous

(D)/ Lucid
57. TARDINESS

(A) Punctuality

(B) Fatigueless

(C)Y Tidiness

(D) Carelessness
58. TRIUMPHANTLY

(A) Courageously

(B) Foolishly

(C}/ Defeatedly

(D)  Successfully

59. COURAGE
(A) Knight
(I}J Colonel

(C) Haughtiness
(D) Timidity

60. CEASE

(A) Perish
(B) Persevere
(C) = Pardon
(D)/ Penance

PT.O.
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MATHEMATICS
If 84 = 352— 272, then find a

A) 62 Va8
Wy
(B) 64 {* o
v '!/5
© 8 A
(D) 16

Find the value of (2)% + (3)® + (=5)3

(A) 0 ;
(B) =90

© 1

D) 30

The class mark of class interval
(160-170) is

4 170
(B) 165
(© 330
(D) 160 -

g _
Find the area of rectangle whose

/,k,/ ngth is 1m 25cm and width is
70cm

(A) 87 m?
(B)  87.5 cm?
(C)  0.875 m?
(D)  8.76 m?
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95. Wﬁmwgmmm?
(A)  200°
(Br 300°
(C) 360°
(D) 180°
96. T B HEH & WRI 2R TH e
7 B B w R W e
@ § 18 foe o 2 s =
12 e @ €1 " o fF ae
Al T e ok T @ e w
& FW € 9w & o § W
g 9% T ¥ 9] 3 s
o T felt?
(A) 36 THTe
(B) 18 e
p/sﬁr—re
(D) 9% w4t T e
97. 9fg fguma sigUR (k— 1) x% + kx +1 I
T IF 3%, W kF AR :
4
(A) 3
-4
® 3
2
o
-2
@
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95.

96.

9.
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%of complete angle equals to ?

(A)  200°
(B) 300°
(C)—360°
(D) 180°

There is a circular path around a
sports field, Priya takes 18 minutes
to drive one round of the field.
Harish takes 12 minutes. Suppose
they start at the same point and at
the same time and go in the same
direction, after how much time they

will meet at starting point?

(A) 36 minutes
/GB‘)/ 18 minutes
(C) 8 minutes
| (D) They will not meet

If one of the zeroes of the quadratic
polynomial (k — 1) x? + kx +1 is -3,

then the value of k is
4 5

(A) 3
-4

(B) 3

m/%
-2

(D) 3

P.T.O.
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93. AR x+2y=75d xR y& Foafe
HH B .
(A) X=35,y=15
(B) x=25y=25
€©) x=15,y=20
w85y =95
9. AR o 3R B wHEO 2x2_3x_6=0
%T’T %.(_‘ﬁ ‘1—+1=?
. o B
(A) :2‘1-
B) o
©) 1
> 3
100. =g forelt o = v @) s@m@n T
& A faem gem” B % it
B
1
(A) B
B) 0
1
(W/ 3
2
(D) 3
J-2501-Series-D 18

98,

99,

GET IT ON
Google Play

If x + 2y = 75, then possible values
of x and y can be
(A) x=35,y=15
(B) x=25,y=25
(C) x=15,y=20
D) x=385,y=25
If a and B are the roots of the
equaﬁion 2X2——3x—6=0, then é-}- % =9 ‘
A) =
( 2
- .'.‘ " a
o (B) 0.,
© 1
3
(D) 2

100.

A dice is thrown once, Then the

probability of "odd number" will be:

1

(A) E
B) o0
1

Q) =
(&) 3
2

(D) -3-
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101, SRUY p(x) = 7x*— 3x3 4+ ox*+x—9&] | 101. The degree of the polynomial

I 1
p(x) = Tx*— 3%+ 56x*+ x ~ 9 will be :
Aa 1
A 1
(B4
B) 4
e o
< 0
(D) SWHE ¥ F FE 7
12 (D) None of the above.
102. = 1 VIR SIoHA SR By 7
102. The multiplicative inverse of 5 is
(A) | 1 equal to :
B) -1 A 1
5
© 712 B -1

| 2

y/ 0 © 5
103. 3f sin A—cos A = 0, then sin 2A =? (D) 0
103. Ifsin A—cos A =0, then sin 2A =?

A 0
ﬁ}é @ 0
® -1

B) -1

@ 1 © 1
1

™5 (D) %

104. afg 81 =64, q 3 & WA H | 104. If 8! = 64, what is the value

G of 31 ;
a) 27 @) 27
®) 3 (B) 3
@9 ' © 9
D 1 D) 1
J-2501-Series-D 19 ' P.T.O.
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105, f5t &g 5 = TH-TeTs TR | 105, One-third of a straight angle i

T equal to :
(A) goe (A 90°
(B) 180° (B) 180°
( 60° € 60°
D) 20° (D) 20°

196.0.00112 x 1000 1 7 T &M | 106, 0.00112 x 1000 is equal to:
(A) 0112 A) 0.112
(B) 1.12 | (B) 1.12
€ 112 (C) 112
O 112 (D) 11.2

107.  RRew wm =5y WRT, A A.P. %1 gy | 107 The n term of an A.P. having first
U =a, U9 3T = d@a = term 'a’' and common difference 'q'
+(n-1)d e is a, = +(n-1)d, fill in the
(A b Plank
® o A) b '
cc)/az ® 5 |
D = (C) a

108. W@ 1331 1 wger . oo

108. The cube root of 1331 is equal to :

(A 121

A) 121
B) 11

B) 11
(C‘J/ 33

(C) 33
D) &l111

D) 111

J-2501-Series-D 20
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(A)
(B)
(C) 164 cm?

(_D)/216 cm?

WS 0.65 9=+ yfqym o
EEl

(A)
(B)

82 cm?

123 cm?

110.

605%
650%

65%

(D) SWH ¥ ¥+ 7

5 ﬂmﬁaﬁ@ﬁqﬁaaggqg
STEd IV T HIY T e

36°

111.

(A)
(B)
(©)
(D)_-45°

T AR 7 T 9§ &l T 500 ¥

TlE 3R T 450 § =11 3UHT Bl
EIGHG RS -

100%

72°
90°

112.

(A)
(B)
C)  90%

o 1%
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If the dimensions of a cuboid are

3cm, 4cm and 10cm, then its surface

area is

(A) 82cm?
(B) 123 cm?
(C) 164 cm?
(D) 216 cm?

Convert decimal fraction 0.65 to

percentage.

(A) 605%

(B) 650%

(C) 65%

(D)  None of the above

The measure of each exterior angle

of a regular polygon of 5 sides is

equal to

(A) 36°
B) 72°
(C) 90°
(D) 45°

A trader bought an item for ¥ 500
and sold it for ¥ 450. What is his
loss%

(A)  100%
(B) 10%
C) 90%
D) 1%

PO
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20cm # aﬂ'{@ ﬂﬁlﬁ?’ﬁfg 12cm
2, Tl IS 1 war 0 27
(A 8cm
B) 12cem
C) 16em
(D 20 em
114. 033 # L &y § w=fw
a 33
100
@®) 10
5
(o)) '1—0:
00)
3
I15. A% a=63 b=17, HCF (a,b)
x LCM (a, b) 1 W 71 ST :
(A) 60
B) 102
©r” 617
(D) 96
116. TH TR st & T A By
TOLM o, B 2
(A) = HIo
@
(C) 3fyew wiur
(D) B'l?l'fﬁ‘ﬁ ff g ﬁﬁ Tel
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‘In a right angled triangle, th,

length of the hypotenuse is 20 ¢y,
and the length of one side is 12 cm,
what is the length of the other side?

(A) 8cm
(B) 12cm
(C) 1l6cm
(D) 20 cm :
Convert 0.33 ............ into = form
fay 8B :
| 100
@, 2
3
_—
© 10
® =
3

If a = 6 and b = 17, then evaluate
HCF (a,b)x LCM (a, b) :

(A) 60
B) 102
(C) 617
(D) 96

In a right angled triangle, the other

two angles are always

(A) acute

(B) right

(C)  obtuse

(D)  None of the above |
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118.

A) 6
®B) 1
Q5
(D) 5
119. 3,2,5,6,4,3,4,5,4 5 9% ©:
@& 3
B) 4
(Cy/
D) 5
120. A% 76 B 7:5:3:4 7% UM H

gl SN A G99 BiA 9M Em:

A) 12
B) 20
© 16
D10
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120.
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Cuboidisa____ shape

(A) 3-dimensional
(B) 2-dimensional
(C) 4-dimensional
(D) 1-dimensional

How many natural numbers lie

between 3% and 4?7

A 6
B) 1
© 3 » .. ..
@ 5

The mode of 3, 2, 5, 6,4, 3,4, 5,4 1is

A 3
(B) 4
© 2
D) 5

If 76 is divided into the ratio of
7 :5:3:4, then the smallest part
will be

A) 12
(B) . 20
C) 16 r N
D) 10

P.J-0.
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B) e
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(A)  HW

(B) e
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GENERAL KNOWLEDGE & EVS

121,

From which Island in India the

coral originated?

(A)
(B)
(©)
(D)
122,

Andaman
Lakshadweep
Nicobar

None of these

Which of the following is not a

tributary of Godavari?

(A)
B)
©)
(D)
123.

(A)
(B)
(&)
(D)
124,

Manjira
Dudhganga
Indravati

Wenganga

Which of the following is a Salt
Lake?

Sambhar
Wullar
Dal

Govind Sagar

Who initiated the "Van Mahotsav"

to remind the country of greening

every year?

(A)
(B)
©

(D)

K.M. Munshi
Rafi Ahmed Kidvai:

Jagjivan Ram

Rajkumari Amrit KauF

- |
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(A)
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128.
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Which one of the following States

does not have Podzolic soil?

(A)  Odisha
(B) Uttar Pradesh
(C) Himachal Pradesh

(D) Jammu-Kashmir

Which festival of Himachal is also

known as "Prithvi Puja"?

(A) Chataar

(B) Hariyali

(C) Bhart

(D) Cherval

Dudhon and Parvati Glaciers are
located in which district.

(A) Chamba

(B) Kullu

(C) Kinnaur

(D)  Mandi

Where is the famous Chadwick
falls situated?

(A)  Solan
~(B) Shimla

(C) Kullu

(D) Chamba

P.T1.0.
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120, Tewrae Wyt ifuey ¥ar ¥97 91 | 129, Who was the first Chairman of

THRER) & qu ey HHA 4?2 Himachal Pradesh subordinate
(AJ/ ‘g, ARl services Selection Board (Hamirpur)
(B) i HosmHl (A) U.K Malhotra
(C) =.HesE (B) C.K. Malhotra
(D) ELuHAEEl (C) K.C.Malhotra
R Sy S S " (D) D.M. Malhotra-
% fra ol § from 22 130. Kiyas Wild life Sanctuary is
(A) = situated in which c,‘:istrict of H.P.
9)/ FHT] (A) Chamba |
@( Tt (B) Kullu
D) fawk (C) Mandi
131.  feured W + 9% 99 ¥ 398 bt (D)  Sirmaur
&7 131. What is the height of H.P. above
(A) 350 . 2 7000 sealJevely
(B) 300 . & 8000 T (4) 350 mt. to 7000 mt.
(C) 350 H. ¥ 6000 . (B) 300 mt. to 8000 in.
@Y~ 350 . | 9000 . (C) 350 mt. to 6000 mt.
132. weH-men o™ et ey ol (D) 350 mt. to 9000 mt,
1 917 132. In which year was the Kalka-
(A) 1903 | Shimla railway line built,
@ 1905 | (4) 1903
©) 1901 (B) 1905
(D) 1806 @ Ism v,
(D) 1806
J-2501-Series-D 26
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133. Which district of H.P. is famous for

134.

135.

136.

salt mines?
(A) Kullu
(B) Mandi

(C) Bilaspur

(D) Kangra

Which district of H.P. has maximum
Industrial Units?

(A) Shimla

(B) Una

(C) Kangra

(D) Solan

Who was the first Indian woman
to climb Mount Everest in the

Himalaya?

(A) Kalpna Chawala
(B) Razia Sultan

(C) Bachchendri Pal
(D) Sucheta Kriplani

What is the tallest building on
Earth?

(A) Burj Khalifa
(B) Shanghai Tower
(C) Mardeka

(D) Lotte World Tower
P.T.O.

(3 scanned with OKEN Scanner


https://applink.adda247.com/d/XhqWf9lSap

Addal247)

137

138.

139,

140..

& dddt ¥ feay  faeitde
B @72

(A) 1 et
(B) 10 st
(C/ 100 foeft
(D) 1000 fa

AE A H e 9g
- 37

(A)  Wfem

®) W

AGS g i

(D) ¥ ¥ HE &

YT THAE e $ g
9w § gam?

(A) = QR

(B)  HEF qaUTyOr

Q) S=3 U

(D) ™ o
ﬁ?ﬂﬁﬂ‘lw@mtﬁ
I@T ¥ gEfyg 22

of <

(B) R, A

(C) TH 3N =

(D) st i &=

J-2501-Series-D

28

137.

138.

139.

140.

GET IT ON
Google Play

How many millimeters are i a

centimeter?
(A) 1mm
(B) 10mm
(C) 100 mm

(D) 1000 mm
What is the largest part of the

human brain?

(A)  Cerebellum

(B)  Cerebrum

(C)  Medulla Oblongata
(D)  None of these

In which period did the modern

Homosappons humans emerge?
(A)  Lower Palaeolithic

(B)  Middle Falaeolithic

(C)  Upper Palaeolithic

(D)  Chalcolithic

Which of the following archaeologists

is associated with the excavations at
Harappa?

(A)  Daya Ram Sahani
(B) R.D. Bainerji

(C) S.R.Rav

(D) B.B.Lal
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The of Indus

Civilization is -

accepted date

(A) 2500-1800 B.C.
(B) 2500-1750 B.C.
(C) 2900-1700 B.C.
(D) 2400-1800 B.C.

In which Veda is the famous

"Gayatri Mantra"?

(A) Rigveda

(B) Yajurveda
(C) Samveda

(D) Atharvaveda

the

"Satymev Jayace" taken?

From where was quote

(A) Chandogya Upnishad
(B) Mundkopnisad

(C) Manusmriti

(D) Rigveda

Which deity got the place of Indra

in the later Vedic period?

(A) Varun
(B)  Prajapati
(C)  Vishnu
(D) Mahesh

P.T.O.

(3 scanned with OKEN Scanner


https://applink.adda247.com/d/XhqWf9lSap

Addal247)

145.

146.

147.

148.

J=2501-Series-D

FANNE S YA =T 4f?

(B) I9E

<eefiaTe o1

(A) Tt &1 T fam
(B) TRl &1 T faasm
(©f faecht w1 T forem
(D) TS YHR &1 1 a8

T feerg 22

(A) =T
(BY= ®ITel

(C) Hst

(D) sﬂﬁ'ﬁaﬁi?ﬁ

-9 & 3 A gest #1 gae
FHeart &

(A) ST 3hig
(B) it wig
(C)—tafes Heed
(D) @ Hew

145.

. 30

146.

147.

148.

GET IT ON
Google Play

What was the capital of Kalashoka?

(A) Vaishali

(B) Rajgrih
(C) Patilputra

(D) Avanti

Delhiwal was-

(A) aresidence of Delhi

(B) a coin of Delhi
(C) afort of Delhi
(D) Fleece

In which district is the Binwa
Hydropower project located?

(A) Chamba

(B) Kangra

(C) Mandi

(D)  None of these

The surface of the Earth just below

the Earth's crust is called-
(A)  Outer Core

(B) Inner Core

(C) Inner Mantle

(D)  Outer Mantle
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Stone Fly is a pointer -

Soil Pollation
Water Pollution

Air Pollution

Sound Pollution

The famous flower "Brahma Kamal"

grows naturally.

In Nilgiri Hills
In the quiet valley
In the Himalaya Range

In Amar Kantak
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